LEYES de KIRCHDFF
'Lf/g de NOdos : ?LJ =0 5 +J/ | = Z ie““@“’f’; - 2 lsalien}e

— .
iy 4 Y4

Z»Cons de (3 319y
A5 —
ol_ga de MQ,‘QS+(—) Jg'i§, ZAVAB:@
o o}




AMPERIMETRo 4 VOLTIMETRO

1
o
@j AV=1.R "
R 7 AV _ N =
P‘I‘o‘r = R*R,_\_ ) R R
AV £T= 2y AV, = R, 2@: TS zgv
R R+Ra AV, = 8,1 R, 7, Bat®y

W\ M=R | Bt 5 MW




- R/g = 2/00—()_ .
L —IA: 500 mA =0,700A -4 2 (;L\?
Ro-41

%—_ RQQC|Y'(‘,U\‘+0 RL{ = 2 'l ! A‘\/)\\/ B RA 14

Re =4 = (200 Q)”
(0,5004)

R, .7 RyRs = 2 O =0,667 Q) _ hgo V

h furfs 3 SNy = ISR%a
= =530 =461 0

8935’-16 R;Bw“Reg% 2 QL :513: Aiﬁ

' \ Rans
\%eﬁ = { = 1 m 3hH
SN FI OTLIL - 0ot

R -

1
| B B A\IQS: I%'RL\S
N = A1 = 0, 4oV




L 2000 j B
g _J Mg = 0,400V = I, = A%/Qo\, = 0,200 A
4

p Q Re g

; - =0 A
I'z)= 0, 600A 1,00Q I‘) ) L\OQ

¢ Ava = Rs(.\s = 0, (ooV




S5ERIF
C
ReylToy K

C

Y

%wmpo
te de
T=¢




ex= e
/|
_F:+
—t/t
e =2
-t/
4'?. <i = ¢
)bl
(1) =hie “)=-L
pla)ble -3
39 = 4L 51 L4139 T

Utz e®s

-

X Z"){%)
R-100M,C-500uFye-300v1 [y (e”) <6
- b -0
3 2TY T=RC =500 = {pox500x10" <0

{

b (‘;GO = (arg3 vaxime) Q.= CE =050 m(

- ' =150 xm'L‘C
c é@(’los)/ 1089

d At pae que Q= 5% de Qo = %Qo

Q)= @ [1-e "1=2 0,



Bn

R yoano = 1,0 KL

éJA\’ a que L =40 A"
AV :RH'I = (4,0&405) (’10 x/\o'g) =10V

L:J\OOW\A > V= looV



A Te (5,0x16%m) . pup MO

g\ I {VQWQ W\faS %Téﬂde Ro( 4 ,:)R O’foY\fnug{
rZ

22 ‘ p=02000m o-oflgsmy [ = 9210 am
<
=R DW\—' QOx\o M A =T
A%oﬂ \/"J\/
@ l L= 20 tm =0,025m
éRz R=pPL = (2.0 Qm) (O/oz,E)m\ _ G/lnlog_o,

C P\ pcu > L= A_E_ = 2900 KL m
fou




A= area Mem by any
| =anche membvan

L=d )
N Rw\ - 81”, - 2/66)(109_
o (érdide @ T 20tk

R = fesistenuia
metro wadrade de membranz

/>
b con ek Rms 40 SEM

= «.—)Roa T)’H’\O-



